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0.1 0.12 0. 14 0.16 0.2 0. 25 0.3 0.35 0.4 0. 45

0.5 0.6 0.7 0.8 0.9 1 1.2 1.6 2 2.5

3 3.5 4 4.5 5 6 8 10 12 16

20 - 25 30 35 40 45 50 §0 70 80
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FBRA #£2 mm
0. 08 0. 09 0.18 0.22 0.28 0.32 0.55 0. 65 1.4

1.8 2.2 2.8 3.2 | 5.5 6.5 7 9 11

14 18 22 28 32 38 42 55 65
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0.4 0.5 0.6 0.7 ;0.8 (0.9 1 1.2 | 1.4 1 1.6 | 1.8 2 2.2 | 2

3.2 | 3.5 3.8 4 | 424548 5 [55| 6 |65 7 |75 8 |85 9

10 12 14 16 18 20 22 25 | 28 30 32 38 42 45 48 50

52 55 58 60 65 70 75 80 85 90 95 100 . 105 | 110 | 115 § 120

125 130 135 140 | 145 | 150 | 160 | 170 | 180 | 190 | 200 } 210 | 220 | 230 | 240

260 270 280 290 | 300 | 320 | 340 | 360 | 380 | 400 | 450 | 500 | 550 | 600 | 650 | 700
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2 2.25 25 | 275 | 3 | 325 | 35 | 375 | 4 | 425 | 45 | 475

5 5.5 6 6.5 7 7.5 8 8.5 9 9.5 | 10 | 103

11.5 12:5 13.5 | 145 | 15 16 8 | 20 | 2 | 25 28 30
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2 3 4 5 6 7 8 9 10 11. 12 13 14 15 16 17 18

19 20 22 25 28 30 35 40 45 50 55 60 65 70 80 90 100
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7 6 mm
s | s | s | 7| s 9 10 11 12 13 14 15 16 17
18 19 | 20 | 22| 24 | 26 28 30 32 35 38 40 42 45
48 | 50 | 52 | 55 | 58 | 60 65 70 75 80 85 9 | 95 100

105 | 110 | 115 | 120 | 13C 140 150 160 170 180 190 200 | 220 240

260 | 280 | 300 | 320 [ 340 360 380 400 | 420 450 480 500 520 550

580 | 600 | 620 | 650 | 680 700 720 750 780 800 850 900 950 1 000




S=FET
— St
T—T -

-—— 3 R ——4

IH:% Jrhl!l’” ;Fh:l’”‘

o= Tz d==—

. == =

— —_— —_—
T > ——= .= ——= Py

— ¥ 3 F_ = A =
2= == == _— anﬁuj

e———— _— —_—
I—=Tr == g ——n F_H= -
—— === = =Xt
=== — T—3 =331
= 1 3 —_——
—_— —3=F —FFF FIrE}—

—_— —FF= — —F—T 3



